Vendor's Name

Vendor's Address, City & State:

** BID WITHDRAWN **

EnviroWaste Services Group, Inc.

Miami, FL

B & D Enterprises

Winter Springs, FL

ltem	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
GROUP I	- Storm Sewer Cleaning								
	General Cleaning								
	(debris & sediment fills 0% to 29% of								
_	diameter)	4000		64.00	64 000 00	¢c.00	¢c 000 00	\$6.00	¢c 000 00
1	pipe sizes 15 inch thru 24 inch	1000	LF	\$1.00	\$1,000.00	\$6.00	\$6,000.00	\$6.00	\$6,000.00
	General Cleaning								
	(debris & sediment fills 0% to 29% of								
2	diameter) pipe sizes 30 inch thru 48 inch	1000	LF	\$1.00	\$1,000.00	\$8.00	\$8,000.00	\$7.25	\$7,250.00
	General Cleaning	1000		γ1.00	Ψ1,000.00	φσ.σσ	γο,οοο.οο	ψ7. 2 3	ψ1,230.00
	(debris & sediment fills 0% to 29% of								
	diameter)								
3	pipe sizes 54 inch thru 78 inch	1000	LF	\$1.00	\$1,000.00	\$30.00	\$30,000.00	\$8.00	\$8,000.00
	General Cleaning								
	(debris & sediment fills 0% to 29% of								
	diameter)								
4	pipe sizes 84 inch thru 120 inch	1000	LF	\$1.00	\$1,000.00	\$35.00	\$35,000.00	\$15.50	\$15,500.00
	Heavy Cleaning								
_	(debris & sediment fills 30% to 100%)	4000	LF	Ć4 00	ć4 000 00	ć2 F0	ć2 F00 00	¢c.00	¢c 000 00
5	pipe sizes 15 inch thru 24 inch	1000	LF	\$1.00	\$1,000.00	\$2.50	\$2,500.00	\$6.00	\$6,000.00
	Heavy Cleaning (debris & sediment fills 30% to 100%)								
6	30 inch thru 48 inch	1000	LF	\$1.00	\$1,000.00	\$5.50	\$5,500.00	\$7.25	\$7,250.00
	Heavy Cleaning	1000		\$1.00	71,000.00	\$3.30	75,500.00	77.23	77,230.00
	(debris & sediment fills 30% to 100%)								
7	54 inch thru 78 inch	1000	LF	\$1.00	\$1,000.00	\$14.00	\$14,000.00	\$8.00	\$8,000.00
	Heavy Cleaning				. ,	·			
	(debris & sediment fills 30% to 100%)								
8	84 inch thru 120 inch	500	LF	\$1.00	\$500.00	\$22.00	\$11,000.00	\$15.50	\$7,750.00
	Subtotal for Group I Storm Sewer				47 500 00		4442.000.00		ACE 220 05
	Cleaning:				\$7,500.00		\$112,000.00]	\$65,750.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL B & D Enterprises
Winter Springs, FL

ltem	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
GROUP II	- Storm Line Plugs			_		-		-	
9	Pipes sizes from 15 inch thru 24 inch								
9a	Per Day	5	EA	\$50.00	\$250.00	\$20.00	\$100.00	\$10.00	\$50.00
9b	7 Day Period minimum	2	EA	\$100.00	\$200.00	\$200.00	\$400.00	\$50.00	\$100.00
9с	30 Day Period minimum	1	EA	\$200.00	\$200.00	\$200.00	\$200.00	\$200.00	\$200.00
10	Pipes sizes from 30 inch thru 48 inch								
10a	Per Day	5	EA	\$100.00	\$500.00	\$20.00	\$100.00	\$40.00	\$200.00
10b	7 Day Period minimum	2	EA	\$400.00	\$800.00	\$1,500.00	\$3,000.00	\$200.00	\$400.00
10c	30 Day Period minimum	1	EA	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$800.00	\$800.00
11	Pipes sizes from 54 inch thru 78 inch								
11a	Per Day	5	EA	\$400.00	\$2,000.00	\$600.00	\$3,000.00	\$400.00	\$2,000.00
11b	7 Day Period minimum	2	EA	\$600.00	\$1,200.00	\$2,400.00	\$4,800.00	\$600.00	\$1,200.00
11c	30 Day Period minimum	1	EA	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
12	Pipes sizes from 84 inch thru 120 inch								
12a	Per Day	5	EA	\$800.00	\$4,000.00	\$2,000.00	\$10,000.00	\$800.00	\$4,000.00
12b	7 Day Period minimum	2	EA	\$1,500.00	\$3,000.00	\$4,500.00	\$9,000.00	\$1,200.00	\$2,400.00
12c	30 Day Period minimum	1	EA	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00
	Subtotal for Group II Storm Line Plugs:				\$16,650.00		\$39,600.00		\$16,850.00
GROUP III	- Storm Sewer Video Inspection/Record	ing							
	Video Inspection/Recording of pipe								
13	sizes from 15 inch thru 24 inch	1000	LF	\$7.00	\$7,000.00	\$2.00	\$2,000.00	\$4.50	\$4,500.00
	Video Inspection/Recording of pipe								
14	sizes from 30 inch thru 48 inch	1000	LF	\$12.00	\$12,000.00	\$4.00	\$4,000.00	\$6.00	\$6,000.00
	Video Inspection/Recording of pipe								
15	sizes from 54 inch thru 78 inch	1000	LF	\$20.00	\$20,000.00	\$1.25	\$1,250.00	\$7.00	\$7,000.00
	Video Inspection/Recording of pipe								
16	sizes from 84 inch thru 120 inch	1000	LF	\$25.00	\$25,000.00	\$1.25	\$1,250.00	\$5.00	\$5,000.00
	Subtotal for Group III Storm Sewer						_		
	Video Inspection/Recording:				\$64,000.00		\$8,500.00		\$22,500.00
GROUP IV	- Dewatering Storm Liines								

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL

B & D Enterprises
Winter Springs, FL

Item	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	Price is per linear foot to include all								
	mobilization, materials, manpower,								
	plugs and incidentals to dewater								
	stormwater lines and associated								
	structures.								
17	pipe sizes 0 inch thru 36 inch	1000	LF	\$0.01	\$10.00	\$6.50	\$6,500.00	\$5.00	\$5,000.00
	Price is per linear foot to include all								
	mobilization, materials, manpower,								
	plugs and incidentals to dewater								
	stormwater lines and associated								
	structures.								
18	pipe sizes 48 inch thru 60 inch	1000	LF	\$0.01	\$10.00	\$6.50	\$6,500.00	\$5.00	\$5,000.00
	Price is per linear foot to include all								
	mobilization, materials, manpower,								
	plugs and incidentals to dewater								
	stormwater lines and associated								
	structures.								
19	pipe sizes 66 inch thru 84 inch	1000	LF	\$0.01	\$10.00	\$6.50	\$6,500.00	\$5.00	\$5,000.00
	Price is per linear foot to include all								
	mobilization, materials, manpower,								
	plugs and incidentals to dewater								
	stormwater lines and associated								
20	structures.	1000		ć0.01	¢10.00	ĆC FO	¢c =00 00	ć	ćF 000 00
20	pipe sizes 96 inch thru 120 inch	1000	LF	\$0.01	\$10.00	\$6.50	\$6,500.00	\$5.00	\$5,000.00
	Subtotal for Group IV Dewatering				¢40.00		¢20 000 00		¢20,000,00
	Storm Lines				\$40.00		\$26,000.00		\$20,000.00
GROUP V	- Joint Repair (Chemical Grout)			1					
	4 joints or less - 15 inch (Unit Price is			4 65		440.55	440.00	40-05	40- 00
21	per joint.)	1	EA	\$75.00	\$75.00	\$10.00	\$10.00	\$65.00	\$65.00
	5 joints or more - 15 inch (Unit Price is			4=0.55	4=0	4222	4000	400.00	400 00
22	per joint.)	1	EA	\$50.00	\$50.00	\$200.00	\$200.00	\$60.00	\$60.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL B & D Enterprises
Winter Springs, FL

23 p 5 24 p	i joints or less - 18 inch (Unit Price is per joint.) 5 joints or more - 18 inch (Unit Price is per joint.)	1	EA					(numbers only)	Total
24 p	i joints or more - 18 inch (Unit Price is per joint.)	1	FΔ						
24 p	per joint.)		LA	\$85.00	\$85.00	\$10.00	\$10.00	\$65.00	\$65.00
4		1	EA	\$60.00	\$60.00	\$200.00	\$200.00	\$60.00	\$60.00
	i joints or less - 24 inch (Unit Price is								
	per joint.)	1	EA	\$100.00	\$100.00	\$10.00	\$10.00	\$175.00	\$175.00
	joints or more - 24 inch (Unit Price is								
	per joint.)	1	EA	\$80.00	\$80.00	\$200.00	\$200.00	\$160.00	\$160.00
	joints or less - 30 inch (Unit Price is								
	per joint.)	1	EA	\$140.00	\$140.00	\$10.00	\$10.00	\$250.00	\$250.00
	joints or more - 30 inch (Unit Price is			4	4	4		4	4
	per joint.)	1	EA	\$100.00	\$100.00	\$200.00	\$200.00	\$170.00	\$170.00
	i joints or less - 36 inch (Unit Price is			400000	4000.00	440.00	440.00	40=0.00	40=0.00
	per joint.)	1	EA	\$200.00	\$200.00	\$10.00	\$10.00	\$350.00	\$350.00
	joints or more - 36 inch (Unit Price is			440000	4400.00	4000.00	4000.00	400000	4000.00
	per joint.)	1	EA	\$120.00	\$120.00	\$200.00	\$200.00	\$200.00	\$200.00
	i joints or less - 42 inch (Unit Price is	4	5 A	¢200.00	¢200.00	¢20.00	¢20.00	6275.00	¢275.00
	per joint.)	1	EA	\$200.00	\$200.00	\$20.00	\$20.00	\$375.00	\$375.00
	joints or more - 42 inch (Unit Price is	1	ΓΛ	¢130.00	¢120.00	¢250.00	¢350.00	¢200.00	¢200.00
	per joint.) I joints or less - 48 inch (Unit Price is	1	EA	\$130.00	\$130.00	\$250.00	\$250.00	\$300.00	\$300.00
	· ·	1	EA	\$250.00	\$250.00	\$20.00	\$20.00	\$450.00	\$450.00
	per joint.) 5 joints or more - 48 inch (Unit Price is	1	EA	\$250.00	\$250.00	\$20.00	\$20.00	\$450.00	\$450.00
	per joint.)	1	EA	\$150.00	\$150.00	\$250.00	\$250.00	\$400.00	\$400.00
	i joints or less - 54 inch (Unit Price is	т	LA	\$150.00	7130.00	Ş230.00	Ş230.00	\$400.00	Ş400.00
	per joint.)	1	EA	\$250.00	\$250.00	\$20.00	\$20.00	\$550.00	\$550.00
	joints or more - 54 inch (Unit Price is	Τ.	LA	7230.00	72JU.UU	720.00	γ20.00	7550.00	,JJ0.00
	per joint.)	1	EA	\$150.00	\$150.00	\$350.00	\$350.00	\$500.00	\$500.00
	i joints or less - 60 inch (Unit Price is			Ç130.00	7130.00	Ç330.00	7550.00	\$500.00	7500.00
	per joint.)	1	EA	\$275.00	\$275.00	\$20.00	\$20.00	\$650.00	\$650.00
	i joints or more - 60 inch (Unit Price is		_,,	+2,5.50	φ2,3.00	Ŷ 2 0.00	γ20.00	+ 000.00	φοσο.σο
	per joint.)	1	EA	\$150.00	\$150.00	\$400.00	\$400.00	\$600.00	\$600.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL B & D Enterprises
Winter Springs, FL

ltem	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	4 joints or less - 66 inch (Unit Price is	_			4	400.00	4-0-00	4	4===
39	per joint.)	1	EA	\$300.00	\$300.00	\$20.00	\$20.00	\$750.00	\$750.00
40	5 joints or more - 66 inch (Unit Price is per joint.)	1	EA	\$160.00	\$160.00	\$300.00	\$300.00	\$700.00	\$700.00
41	4 joints or less - 72 inch (Unit Price is per joint.)	1	EA	\$325.00	\$325.00	\$20.00	\$20.00	\$850.00	\$850.00
42	5 joints or more - 72 inch (Unit Price is per joint.)	1	EA	\$170.00	\$170.00	\$350.00	\$350.00	\$800.00	\$800.00
43	4 joints or less - 84 inch (Unit Price is per joint.)	1	EA	\$350.00	\$350.00	\$20.00	\$20.00	\$950.00	\$950.00
44	5 joints or more - 84 inch (Unit Price is per joint.)	1	EA	\$180.00	\$180.00	\$350.00	\$350.00	\$900.00	\$900.00
45	4 joints or less - 96 inch (Unit Price is per joint.)	1	EA	\$375.00	\$375.00	\$20.00	\$20.00	\$1,050.00	\$1,050.00
46	5 joints or more - 96 inch (Unit Price is per joint.)	1	EA	\$190.00	\$190.00	\$400.00	\$400.00	\$1,000.00	\$1,000.00
47	4 joints or less 108 inch (Unit Price is per joint.)	1	EA	\$400.00	\$400.00	\$20.00	\$20.00	\$1,200.00	\$1,200.00
48	5 joints or more - 108 inch (Unit Price is per joint.)	1	EA	\$200.00	\$200.00	\$400.00	\$400.00	\$1,100.00	\$1,100.00
49	4 joints or less 120 inch (Unit Price is per joint.)	1	EA	\$500.00	\$500.00	\$20.00	\$20.00	\$1,700.00	\$1,700.00
50	5 joints or more - 120 inch (Unit Price is per joint.)	1	EA	\$250.00	\$250.00	\$400.00	\$400.00	\$2,000.00	\$2,000.00
	Subtotal for Group V Joint Repair (Chemical Group):				\$5,965.00		\$4,700.00		\$18,380.00
GROUP V	I - Internal Joint Seals (Rubber)							=	
	Mobilization for job with requirements								
51	of installing 1 to 10 internal joint seals for pipe size of 24 in. to 48 in.	1	LS	\$1.00	\$1.00	\$10.00	\$10.00	\$1,500.00	\$1,500.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL B & D Enterprises
Winter Springs, FL

ltem	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	Mobilization for job with requirements								
	of installing 11 and over internal joint								
52	seals for pipe size of 24 in. to 48 in.	1	LS	\$1.00	\$1.00	\$10.00	\$10.00	\$500.00	\$500.00
	Mobilization for job with requirements								
	of installing 1 to 10 internal joint seals								
53	for pipe size of 54 in. to 78 in.	1	LS	\$1.00	\$1.00	\$10.00	\$10.00	\$1,500.00	\$1,500.00
	Mobilization for job with requirements								
	of installing 11 and over internal joint								
54	seals for pipe size of 54 in. to 78 in.	1	LS	\$1.00	\$1.00	\$10.00	\$10.00	\$500.00	\$500.00
	Mobilization for job with requirements								
	of installing 1 to 10 internal joint seals								
55	for pipe size of 84 in. to 120 in.	1	LS	\$1.00	\$1.00	\$10.00	\$10.00	\$1,500.00	\$1,500.00
	Mobilization for job with requirements								
	of installing 11 and over internal joint								
56	seals for pipe size of 84 in. to 120 in.	1	LS	\$1.00	\$1.00	\$10.00	\$10.00	\$500.00	\$500.00
	For 24 in. host pipe, for job with								
	requirement of 1 to 10 internal joint	_		4	4			4	
57	seals. (Unit Price is per joint.)	1	EA	\$500.00	\$500.00	\$700.00	\$700.00	\$670.00	\$670.00
	For 24 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per	_		4=00.00	4=00.00	400000	4000.00	4500.40	4500.40
58	joint.)	1	EA	\$500.00	\$500.00	\$300.00	\$300.00	\$623.10	\$623.10
	For 30 in. host pipe, for job with								
	requirement of 1 to 10 internal joint	_		4=00.00	4=00.00	4=00.00	4=00.00	4=40.00	4= 40.00
59	seals. (Unit Price is per joint.)	1	EA	\$500.00	\$500.00	\$700.00	\$700.00	\$740.00	\$740.00
	For 30 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per	_		4-00 55	4=00 ==	4000 55	4000	4500 55	4000
60	joint.)	1	EA	\$500.00	\$500.00	\$300.00	\$300.00	\$688.20	\$688.20
	For 36 in. host pipe, for job with								
	requirement of 1 to 10 internal joint	1		¢500.00	ć=00.00	¢000.00	6000.00	ć020.00	6020.00
61	seals. (Unit Price is per joint.)	1	EA	\$500.00	\$500.00	\$800.00	\$800.00	\$920.00	\$920.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL B & D Enterprises
Winter Springs, FL

ltem	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	For 36 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
62	joint.)	1	EA	\$500.00	\$500.00	\$400.00	\$400.00	\$855.60	\$855.60
	For 42 in. host pipe, for job with								
	requirement of 1 to 10 internal joint								
63	seals. (Unit Price is per joint.)	1	EA	\$650.00	\$650.00	\$1,200.00	\$1,200.00	\$980.00	\$980.00
	For 42 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per	_		4					
64	joint.)	1	EA	\$650.00	\$650.00	\$500.00	\$500.00	\$911.40	\$911.40
	For 48 in. host pipe, for job with								
6-	requirement of 1 to 10 internal joint			4650.00	¢650.00	64 200 00	44 200 00	44 000 00	64 000 00
65	seals. (Unit Price is per joint.)	1	EA	\$650.00	\$650.00	\$1,200.00	\$1,200.00	\$1,080.00	\$1,080.00
	For 48 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per			4650.00	¢650.00	\$ 500.00	4600.00	64 004 40	64 004 40
66	joint.)	1	EA	\$650.00	\$650.00	\$600.00	\$600.00	\$1,004.40	\$1,004.40
	For 54 in. host pipe, for job with								
67	requirement of 1 to 10 internal joint	4		¢650.00	¢650.00	ć1 100 00	ć1 100 00	ć1 170 00	ć1 170 00
67	seals. (Unit Price is per joint.)	1	EA	\$650.00	\$650.00	\$1,100.00	\$1,100.00	\$1,170.00	\$1,170.00
	For 54 in. host pipe, from 11 and over								
CO	internal joint seals. (Unit Price is per	1		¢650.00	¢(F0,00	¢500.00	¢500.00	ć1 000 10	ć1 000 10
68	joint.)	1	EA	\$650.00	\$650.00	\$500.00	\$500.00	\$1,088.10	\$1,088.10
	For 60 in. host pipe, for job with								
69	requirement of 1 to 10 internal joint	1	EA	\$950.00	\$950.00	\$1,400.00	\$1,400.00	\$1,450.00	\$1,450.00
- 05	seals. (Unit Price is per joint.) For 60 in. host pipe, from 11 and over	1	LA	3930.00	υυ.υσες	Ş1,400.00	\$1,400.00	Ş1,43U.UU	\$1, 4 50.00
	internal joint seals. (Unit Price is per								
70	joint.)	1	EA	\$950.00	\$950.00	\$500.00	\$500.00	\$1,740.00	\$1,740.00
	For 66 in. host pipe, for job with	Τ.	LA	Ç950.00	Ş930.00	\$300.00	\$300.00	\$1,740.00	71,740.00
	requirement of 1 to 10 internal joint								
71	seals. (Unit Price is per joint.)	1	EA	\$950.00	\$950.00	\$1,400.00	\$1,400.00	\$1,348.50	\$1,348.50
, <u>, , , , , , , , , , , , , , , , , , </u>	iseais. (Office is per joint.)	1	LA	7730.00	00.00 ک	71,400.00	71,700.00	71,540.50	71,540.50

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL B & D Enterprises
Winter Springs, FL

ltem	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	For 66 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
72	joint.)	1	EA	\$950.00	\$950.00	\$500.00	\$500.00	\$1,618.20	\$1,618.20
	For 72 in. host pipe, for job with								
	requirement of 1 to 10 internal joint			4	4	4	4	4	4
73	seals. (Unit Price is per joint.)	1	EA	\$950.00	\$950.00	\$1,400.00	\$1,400.00	\$1,900.00	\$1,900.00
	For 72 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per	4		¢050.00	¢050.00	¢600.00	¢600.00	64.767.00	64 767 00
74	joint.)	1	EA	\$950.00	\$950.00	\$600.00	\$600.00	\$1,767.00	\$1,767.00
	For 78 in. host pipe, for job with								
75	requirement of 1 to 10 internal joint	1	EA	\$1,250.00	\$1,250.00	\$1,200.00	\$1,200.00	\$2,020.00	\$2,020.00
/3	seals. (Unit Price is per joint.) For 78 in. host pipe, from 11 and over	1	LA	\$1,230.00	\$1,230.00	\$1,200.00	\$1,200.00	\$2,020.00	\$2,020.00
	internal joint seals. (Unit Price is per								
76	joint.)	1	EA	\$1,250.00	\$1,250.00	\$500.00	\$500.00	\$1,878.60	\$1,878.60
—	For 84 in. host pipe, for job with			71,230.00	Ψ1,230.00	γ300.00	φ300.00	71,070.00	Ψ1,070.00
	requirement of 1 to 10 internal joint								
77	seals. (Unit Price is per joint.)	1	EA	\$1,250.00	\$1,250.00	\$1,800.00	\$1,800.00	\$2,260.00	\$2,260.00
	For 84 in. host pipe, from 11 and over			. ,	. ,	. ,	. ,		. ,
	internal joint seals. (Unit Price is per								
78	joint.)	1	EA	\$1,250.00	\$1,250.00	\$400.00	\$400.00	\$2,101.88	\$2,101.88
	For 90 in. host pipe, for job with								
	requirement of 1 to 10 internal joint								
79	seals. (Unit Price is per joint.)	1	EA	\$1,250.00	\$1,250.00	\$1,800.00	\$1,800.00	\$2,380.00	\$2,380.00
	For 90 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
80	joint.)	1	EA	\$1,250.00	\$1,250.00	\$400.00	\$400.00	\$2,213.40	\$2,213.40
	For 96 in. host pipe, for job with								
	requirement of 1 to 10 internal joint						_		
81	seals. (Unit Price is per joint.)	1	EA	\$1,450.00	\$1,450.00	\$2,200.00	\$2,200.00	\$2,510.00	\$2,510.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL

B & D Enterprises
Winter Springs, FL

Item	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	For 96 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
82	joint.)	1	EA	\$1,450.00	\$1,450.00	\$600.00	\$600.00	\$2,334.30	\$2,334.30
	For 102 in. host pipe, for job with								
	requirement of 1 to 10 internal joint								
83	seals. (Unit Price is per joint.)	1	EA	\$1,450.00	\$1,450.00	\$2,500.00	\$2,500.00	\$2,630.00	\$2,630.00
	For 102 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
84	joint.)	1	EA	\$1,450.00	\$1,450.00	\$600.00	\$600.00	\$2,445.90	\$2,445.90
	For 108 in. host pipe, for job with								
	requirement of 1 to 10 internal joint								
85	seals. (Unit Price is per joint.)	1	EA	\$1,450.00	\$1,450.00	\$2,200.00	\$2,200.00	\$2,770.00	\$2,770.00
	For 108 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
86	joint.)	1	EA	\$1,450.00	\$1,450.00	\$500.00	\$500.00	\$2,576.10	\$2,576.10
	For 120 in. host pipe, for job with								
	requirement of 1 to 10 internal joint								
87	seals. (Unit Price is per joint.)	1	EA	\$2,100.00	\$2,100.00	\$2,500.00	\$2,500.00	\$4,200.00	\$4,200.00
	For 120 in. host pipe, from 11 and over								
	internal joint seals. (Unit Price is per								
88	joint.)	1	EA	\$2,100.00	\$2,100.00	\$700.00	\$700.00	\$4,200.00	\$4,200.00
	Subtotal for Group VI Internal Joint								
	Seals (Rubber):				\$33,006.00		\$32,060.00		\$63,074.68
GROUP VI	I - Miscellaneous Services								
89	Radar Inspection	100	Hour	\$45.00	\$4,500.00	\$45.00	\$4,500.00	\$65.00	\$6,500.00
90	Cement Based Grout Injection	500	CF	\$25.00	\$12,500.00	\$40.00	\$20,000.00	\$20.00	\$10,000.00
91	Drill and Patch Holes	100	EA	\$1.00	\$100.00	\$5.00	\$500.00	\$45.00	\$4,500.00
92	Cracks All Pipes Sizes 250 LF		LF	\$20.00	\$5,000.00	\$25.00	\$6,250.00	\$45.00	\$11,250.00
	Commercial Diving Team services - Job								
93	Specific	Hour	\$100.00	\$2,400.00	\$500.00	\$12,000.00	\$350.00	\$8,400.00	
	Subtotal for Group VII Miscellaneous			400		4		4.0.0======	
	Services				\$24,500.00		\$43,250.00		\$40,650.00

Vendor's	Name			EnviroWaste S	Services Group, Inc.	B & D	Enterprises	Altair Environmental Group	
Vendor's	Address, City & State:			Mi	ami, FL	Winter	Springs, FL	Long	wood, FL
Item	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	***************************************		XXXX	*********	\$151,661.00	-	\$266,110.00		\$247,204.68
	d Grand Total (Groups I, II, III, IV, V, VI, VI e: Recheck your data prior to submission.		v not be	changed after b			3200,110.00		3247,204.00
	,			0	0 1/1				
Vactor Tr	uck Service								
	1010 S. Westmoreland Avenue, Orlando FL Wash Rack to Empty the Waste Water Holding Tanks for the			4		4	4	40.000	4
94	Truck Wash Runoff	26	LS	\$500.00	\$13,000.00	\$1,000.00	\$26,000.00	\$2,000.00	\$52,000.00
95	Hourly rate for Vactor, operator and helper for normal week days 7 am to 7 pm	80	Hour	\$150.00	\$12,000.00	\$200.00	\$16,000.00	\$250.00	\$20,000.00
	Hourly rate for after hour response for		11001	ψ130.00	Ψ12/000.00	Ψ200.00	Ψ10,000.00	Ψ230.00	Ψ20,000.00
96	Vactor, operator and helper for week days 7 pm to 7 am and weekends	80	Hour	\$150.00	\$12,000.00	\$50.00	\$4,000.00	\$300.00	\$24,000.00
	Subtotal for Group Vactor Truck Service				\$37,000.00		\$46,000.00		\$96,000.00
	Stormwater Baffle Boxes, C.D.S., Stormceptors								
	CDS Units			, ,	_				
	GIS ID # Location Address				Total	r	Å. =00 cc		<u> </u>
97	HB-30-054 746 Terrace Blvd.		1	LS	\$750.00		\$1,500.00		\$1,500.00
98 99	HB-23-013 714 Wilkenson Street LW-10-092 1009 Bryn Mawr Street		1	LS LS	\$750.00 \$750.00		\$1,500.00	l .	\$1,500.00 \$1,500.00
100	LW-10-092 1009 Bryn Mawr Street BC-19-490 2721 Lake Holden Terrace		1	LS	\$750.00 \$750.00		\$1,500.00 \$1,500.00	L	\$1,500.00
	Subtotal for CDS units				\$3,000.00		\$6,000.00		\$6,000.00
	Stormceptors								
101	HB-25-255 319 East Princeton Street		1	LS	\$750.00		\$1,500.00		\$2,100.00
102	HB-25-289 2211 North Orange Ave.		1	LS	\$750.00		\$1,500.00		\$2,100.00
103	N/A 2100 Alden Drive		1	LS	\$750.00		\$1,500.00		\$2,100.00
104	HB-26-091 401 West Livingston Place		1	LS	\$750.00		\$1,500.00		\$2,100.00

Vendor's Name

Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL

B & D Enterprises
Winter Springs, FL

				Unit Price		Unit Price		Unit Price	
Item	Description	Qty	Unit	(numbers only)		(numbers only)		(numbers only)	Total
105	N/A 1416 Atlanta Avenue		1	LS	\$750.00		\$1,500.00		\$2,100.00
	Subtotal for Stormceptors				\$3,750.00		\$7,500.00		\$10,500.00
	Baffle Boxes		1						
106	HB-23-104 810 Wilkerson Ave.		1	LS	\$750.00		\$250.00		\$4,250.00
107	HB-25-009 582 Ivanhoe Plaza		1	LS	\$750.00		\$250.00		\$4,250.00
108	HB-25-097 1324 Poinsettia Ave.		1	LS	\$750.00		\$250.00		\$4,250.00
109	HB-26-248 806 Edgewater Drive		1	LS	\$750.00		\$1,000.00		\$4,250.00
110	HB-26-250 808 Edgewater Drive		1	LS	\$750.00		\$250.00		\$4,250.00
	HB-27-004 960 South Lake Adair								
111	Blvd.		1	LS	\$750.00		\$250.00		\$4,250.00
	HB-27-017 1030 West Lake Adair								
112	Blvd.		1	LS	\$750.00		\$1,000.00		\$4,250.00
113	HB-28-059 1507 Spring Lake Drive		1	LS	\$750.00		\$250.00		\$4,250.00
114	HB-28-125 1164 Overbrook Drive		1	LS	\$750.00		\$250.00		\$4,250.00
115	HB-28-159 1275 Spring Lake Drive		1	LS	\$750.00		\$250.00		\$4,250.00
116	HB-29-515 578 West Concord Street		1	LS	\$750.00		\$250.00		\$4,250.00
117	HB-34-019 1515 Falcon Court		1	LS	\$750.00		\$250.00		\$4,250.00
118	LW-10-002 1227 West Yale Street		1	LS	\$750.00		\$1,000.00		\$4,250.00
119	LW-10-004 2609 Ardsley Drive		1	LS	\$750.00		\$250.00		\$4,250.00
120	LW-10-122 1233 Bryn Mawr Street		1	LS	\$750.00		\$250.00		\$4,250.00
121	LW-10-157 3009 Ardsley Drive		1	LS	\$750.00		\$250.00		\$4,250.00
122	LW-10-161 2717 Ardsley Drive		1	LS	\$750.00		\$250.00		\$4,250.00
123	N/A 1320 SW Ivanhoe Blvd.		1	LS	\$750.00		\$250.00		\$4,250.00
124	N/A 722 West Concord street		1	LS	\$750.00		\$1,000.00		\$4,250.00
125	BC-19-116 3120 Albert Street		1	LS	\$750.00		\$250.00		\$4,250.00
126	BC-19-117 3216 Albert Street		1	LS	\$750.00		\$250.00		\$4,250.00
127	LE-12-120 3303 Hargill Drive		1	LS	\$750.00		\$250.00		\$4,250.00
128	LE-15-079 616 Lake Como Circle		1	LS	\$750.00		\$1,000.00		\$4,250.00
129	LE-19-037 2301 South Summerlin		1	LS	\$750.00		\$250.00		\$4,250.00
130	LE-21-042 1016 Bahama Drive		1	LS	\$750.00		\$250.00		\$4,250.00
131	N/A 818 East Church St.		1	LS	\$750.00		\$250.00		\$4,250.00

Vendor's Name

Vendor's Address, City & State:

** BID WITHDRAWN **
EnviroWaste Services Group, Inc.
Miami, FL

B & D Enterprises
Winter Springs, FL

Item	Description		Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
132	N/A	520 S. Magnolia Avenue		1	LS	\$750.00		\$250.00		\$4,250.00
133	N/A	706 Lake Davis Drive		1	LS	\$750.00		\$1,000.00		\$4,250.00
134	N/A	3316 Montclair Road		1	LS	\$750.00		\$250.00		\$4,250.00
135	SC-10-1821	2000 Monte Carlo Trail		1	LS	\$750.00		\$250.00		\$4,250.00
136	SC-19-203	621 18th Street		1	LS	\$750.00		\$250.00		\$4,250.00
137	SC-19-231	609 19th Street		1	LS	\$750.00		\$250.00		\$4,250.00
138	SC-13-097	722 West Central Avenue		1	LS	\$750.00		\$250.00		\$4,250.00
	Subtotal for	Baffle Boxes				\$24,750.00		\$12,750.00		\$140,250.00
										-
	GRAND TOTAL OF ALL WORK							\$338,360.00		\$499,954.68

Vendor's Name	EnviroWaste Services Group, Inc. Miami, FL	B & D Enterprises Winter Springs, FL	Altair Environmental Group Longwood, FL	
Contact Email Address	julio.fojon@envirowastesg.com	mikep@bndenterprises.com	ayton@altairenvironmental.co	
1 - Original, 1 - Copy, CD or FD	1, 1, CD	1, 1, FD	1, 1, FD	
IFB Cover Page	Yes	Yes	Yes	
Bid Bond	Yes	Yes	Yes	
Bid Price Form (From Addendum One)	Yes	Yes	Yes	
Company Tax ID on Bidder's Certification Form	Yes	Yes	Yes	
Registered in State of Florida (Sunbiz)	Yes	Yes	Yes	

Vendor's Name
Vendor's Address, City & State:

EnviroWaste Services Group, Inc. Miami, FL

B & D Enterprises
Winter Springs, FL

m	Description	Qty	Unit	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total	Unit Price (numbers only)	Total
	Licensed Florida Contractor		Yes	??		Yes			
	Company W-9		Yes	Yes		Yes			
	Attachment "B" Bidder's Certification				Yes		Yes	Yes	
	Attachment "C" Conflict of Interest Disclosure Form Attachment "D" Contract and Acceptance Form				Yes	Yes		Yes	
					Yes	Yes		Yes	
	Attachment "E" Bidder's Questionaire	nent "E" Bidder's Questionaire			Yes	Yes		Yes	
	Attachment "F" Written Questions Fo				Yes		N/A		N/A
	Attachment "G" Minority/Women (MW Participation Form Letter of Intent	/BE) Ow	ned		Yes	Yes		Yes	
	Attachment "H" Veteran Business En Participation Form (00800-7)	nent "H" Veteran Business Enterprise ation Form (00800-7) nent "I" Acknowledgement of Addendums (#1,			Yes	Yes		Yes	
	· ·				Yes	Yes		Yes	
	Attachment "J" No-Bid Response Form			N/A		N/A		N/A	
	Attachment "K" Confidential and/or P Information Exemption Form		у		Yes		Yes		NO
	Attachment "L" Office Location				Yes		NO		NO
	Attachment "M" Bidder's Equipment List Attachment "N" Proff of Injection Personnel Qualification Requirements				Yes		NO	NO	
					Yes		NO	NO	